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�?.��-���0@)�������	
T���9�����] �6V 

��
���.��-.$�qC����,���x�I�x�I���
4�7��	���5
���̀1�����
�������"����sC<��1��������7�	��H $F
��

�T4���4�4�a[�0�4(�	����U�Tc��$�N�U��N�$����78��(�A
����$�%��X��������$�qC���7�������
�a[�8����T4�i�,���5) ��
�������������� ��9=
���
�T\+�i�,���5) �(+Pl�T/�7?.�(�	��� �U�a[�(�d� �̀�
� �K,
��5
�U�� 7 cK���� ��t

 �6��� �̀�
��K,
�8��[�k �2Ld�T4�T���n���"���!@���b6�8�C6�����1�9$7�%���U/��5
���	����-.�(A
��$������
�c�$�T4���+�8
4�����"���7X������4N���
��Pl��U�8.��"�8=CP�8���$��8
o����
��¡@�d�t�F�C<�J���$���G���(,d�t�8.

W�)$��?=���T4�a[�(,d�(>d��8
�$��~ ,$���+�	���a[�(� ���T���(�	����U����6����7��CP��� ������T�V5)����
�



 

 �

�] �6T���a[�(����
�	G�8
4�?.����� ��� -̀.��7n���"���!@���a[�(�$�(�	����U�sC������P���������������
��
����
����1�>G��,
�P������+�	������6n���"���!@���a[�sC���b6� �̀�"��8���s,�V�To��7z �-���(�	����U�(�4

��7J�1G�J
�P��.���
��¢�)d��<�	��H $F
�����-	
�n���"���!@���T4������4������ 
��2 $4�J
�����-.�T������4�
�������I��&CG���8�19
��1��;CG/��H��$�"����G����=d���T\+�?"�����n�£��5G�(�=
��¤@�4�����D�(@������+�^

�J$�D�5G�����?"�����n�£���n���"���!@���H +�i�� d���4����$�%�8
4���
��A$����n'��������7�,Cq
� 0!@�
���D�(@������+0q� ����� 7�����s<����z �j��� �I��T���� 7�E�G�~ �4� �'�19� �cG� �¡@�d�sC��� �̀�"��# �¡@�

"��5
�x��!��n���"�� �!@���¤@�\�� �
�	G�z �-��� 7¤C� �	��n���"�� �!@�����<��� ���+���
���� �̀	C��� �
� �.��
��)9
������1>	"� +̂�d�0@��¥
�
�+�J$�D�5G�# ��	��@9��Y !@C��n���"���!@�����<�������	��¤C"��5
���1G�8����r

��@I��# �@���"��� �!@��� ��  ����
�s
��� v��� ��P/��� hz ¦1L9+�a[�(�$������C���� 7��!@��� ~ �� �
�	G�
� �������� ��
�i�@��a[�p .-$�T��� �¡@���T/� ��
�����K
/��# �A��n���"�����<�*��� ��
�i�@��� �@��	"�+��

�3 �	I��5
�  ��1"�;CG4�s
�����	��T��C
�HRFR�(@<�s
�)d��
�C���H	R�����Z������ ��1�6�5
���U4�§�:�
��$�qC������G�s
�����i��	d�CG���K
/�u �=�������;CG��
�V�\*
�z �-���z �-��5)$�X���� ��P��$��
���	����-.�

(���7��,$��\+�i�� d���4��	�����-������9"���.��u =¡	"���$�I���!@�����<�a[�(�$�b6�(=�4�a[� �̀����=S�
��,��� �̀�
4��+�$�T4���K���8���@K��,�1G��,
�P� 	̂� ���V 

��
�# ��	��9����P��4�-	
��	��@9���('��47i���@������q���5G���������,K	
���Y !@
�5���# ����
�	G�¤@�4�b6�

JD�	
�k �*)����������@�����.�
����v����$��	���p ������������s<��P��� 0@����1G4�a[�sC������������ 0A�
�A$����# �
�2 �=����@!� +��\d�s
���v���Y $����������p �����b6�p ����V���-.��	�@�d��`�1G/�i�7��T4��
���

� ��+�4� C̈@$� ��,1G��
�C���� ��
�i�©�����ª���4��� ��
� �'�1�+�4��  �.�,����� ��
� �'�«����� ���
�H9��� �'�

T���47
\)���<�8�T������J�1G�J
�P��
�	G���
�w �4��� �̀�"��8���# ���V 

��
�7��	���m$��d�k ��
�b6���P/���Cd� �6���p �������� ��
��	������T4��
�����"���!@��'�1���(��n�

�7x��!��n,���	��~ �4��-.��9
��t�7��,�����	��� �̀=S�T����-������P/������Z�¥�CP�(P�����U\+����P/�
�����U�8��[�sC���P_��5G�~ C����U�(���7�U�x��T�����,$��4�5
�(����U�i�4��7���6�-	
��	��~ �4��'�«���

�����*@���5
��
��<���U�T����5
��	+��<���jo��7# ��
� �G���	�����Kd�s<����z �j�-	
��7�������-.�����
�a[�(
� a[� �	�� k %l�  �*G� 5
� &9<� 7H19<� a[� &9,	d� ��O�"�� �	�� ~ �4� H�@9��� T4� ��	9�� 7Y $���� �����������

Y $���7�k %l� �*����(@<�&9<���	��7���CI��������¬�	.�T���Y �6�Y �6����*�	
���CI��T����x���4������
�$�qC������+��I��T����7��1*���x�I�������P��w �/��s
���z �-���¥CA���i�@��p �/����$%�1�e��(A
�# c���<�



 

 �

���,$��4�i�@��b6����<�,�����T_��b6�¥CA��+� �Kq
�s���%�v�������&���� 0@��s
���8�CG��7�0A��X�����¤@�4
4��������	��~ �4�H ���cG�k �=I�s=�P����,$��4�# �+���T�s
���v���i�
���+�u �+/��(�	���­�
������$�����®��\d

�����E�G�p @9+��7��K
4�s
�)����$�����p ��@$�,d�u �+/��(�	���s
���v���i�
����(1�����
�a[��\$�5)$�X�7
�f �����T���7k ��>��� -̀.�(�����z �-���7~ �� ���(������*@���5
��\$�n�9+��U�%[���+��$�qC���@�����
��

���d�X�� �����f ��$�T����-���T�9
 �̄� ��	
�;=�P���x�����x��!��s!@�4�T4l��4���4�H �9�����T�9
°����R
9��@���CI�����������������v����	��~ �4�H����±�JD�	
� �G������� ���i�6����1������
�T�)��(���7��
���

-̀.������,������	<�a[��+�	���5
���Rl� �̂� �T/��$�qC���@���s
���&������T4�5
��+%�������C�C<����G\+�JD�	"��
�# ��L��v���5�����������z Cd��$�,+�5
���1>G�F)�.�HRFR����6�T����.��G���s
��h����/H ���,
��²�&U4�§�:

����@D����
�&�	
��4����
�5)d�X��������4�3 �6���&�=�6���,��7¤2 �$�4�z �j�5
��T���������z �j���f �����T
�N@���T��³�� �	���x%�.�5)$�X�� 7x��!� �����f ��d�s
���v���# �
������x�	����+� ����P�� E��K��� 5
����

����4�# �
��/�¬���x�-qC�� �
�.� ����
�s<���� �-.���s
���v��7��U���K� $� ��
�)�ć���5
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������	��
 ����������s��L���<k �LG��78��� �̀�"��T�$���ª�«4�s��LG���(�	����U�T4������7�$�qC��p $���x?*+���1�$�H	���\$

�G�T�2 �=+�������
hiu =¡	
�T�2 �=+�������
�H	��t��77�������8
�2 ���n���
���%���
���P4��C$�D�H	���\$�t�
;CG�JCKL$�� �.�>��� -̀.�»�d0.� �.���»&���;CG0.�;G�L$����*
�?�������.�X�G�d���!C�"��9�'��(1�$�T���

�E�G�b6��5$�*����T�,���('��4�-	
���
����)������e����	V��
��

� ��O�
� i�6�?)��dE��./��  �$�I� ���C��4�� ���,
� s@���� 78	G�  ��-
� (1�+�s1<��,�� 7 �X� v��
�.�*	d�²C�d���<�s	���s+��<�� �̂�
�&�.��+[�j���/����-.�i�6��
4��7&C)�d��
�	G�z <�� d�� �	���T[���i�<��T\*���

8�
� �̀*	���
�)���5
�����;,Cd4�T4���+�%[�i�,"���-.��*
4�5��́�4��7Ì(��-��������	I��i�1����������a[���,
�
s<����z �j���x���������'��T��º�$�X��7i�,"���*	L$�X���
�)�������² 

��
�a[��	.�0�4�T4���4�� ����
�?)��8
4�9� �a[�|����?)��d���T����~ �4�H�+�4���'�19�����4�����C
�

T�D�9������
�;CG� ,̂d� �,K	"�� -̀.�T/��$�,d�(<4�;CG� �̀�"��5
�p �)
���
�¡@����7��C
��?O��/���7�hi�G� �����
����6�p �)
���
�(���,=$�T4��������$�qC��	�Ï8	
���	���x�	R4�~ �� ��������(>$��7�i��9�~ ���i�����&���

;CG� �̀�"����6���
�5
�z �-���+�CK"�������+�T�)���z �j�T\+�EF)����-.�;CG����*"��5G�T�����"������<���



 

 ��

��
�x��4�?<�+��� �̀�"��E��¡����²����*
�(1G������&�$�v�����
�m$��d���a�/�� �"��?.� -̀.�To��7�,�,�����
"��5
� �̀���"�nKÐ�T4�(@<�̀��² 

��
�;CG�x�	+��7u =¡	"��T�2 �=���# �<�4��� �̀�"��5$�¡����� ��P�Î*
4�8
4��������9���� ����# ��j��<�

���
���19�,
�Y �Z��.-P\
�v��� �̀�"���@9
�(�C,d�;CG�T���9��� 
̂��	,=d���,��z �j����
�)���-�����6����x?*����7
��
��� �̀�"����1��(C,
�b6�8C1G5
�(C,
�T4��.��9
��G�����6��
�����/���7�0A��¶x�
�z C��9$�i��!1��8
/�

 0A��i��
4������a[�|�����U4�%[���P4���D�¬�	.��7 09���� ��6�����,$�K���?.� -̀.��V��T4�a[�0�4�T4���4
�9d��5G�¥�	d�v����7��������� ����"���+�-�����C�C<� �̀�"��5
���W$������=�9�����
�+���!	
���/�����8�C6������	���µ

5
�������®�v��� �̀�"�� -̀.��7n���"���!@�����p �$�T4�(@<��6�C"��5
������a[�(�$�b6�i�1*����������6�C"�
��/�����V=¡	
�# �
�2 �=���s
���T4�s<��# ��	��@9�����z �j�J@K
�T4�5)1"��5
�T����<��<��5
�&�$�T4��7�2����

�(�C,d[�7��/���G�����6�9
u ���# ���9�����'����T4�%����<%���-.�T����8�CG�?������Ä���nqO�¬�	.�V 
��

�7�G�������� 0A��# ����d���
�
4�������
�T[�i�<4�7z �-�������G������?O��/�+�?=�)
�T4�5
��+%�
� 7�@�P�0�� ��O�4�� ����G�x��!� ���w �\�� 7x��!� ��� �G����  �)��;CG� �
�±�w ��G4� �
4�� 7��
�� �����5
��>	��

$�z �j�5G�Y $����� ��	
������%� ��!@��� �$��� �<%�s<�C�� �G��O����V�T4��.�8��[� �
���# �G�� �
�T���z �-��
7�Pl�ª�*
��\+������E�,
�%���G���C��(�	����������������Â �Ð����¡"��?O��/��5G�����+��G�	� ���(��(,	
�T4��

¡L
�T4� �̀�=
�z �-����C1G��G��*
�s
�<��<��7�G���C���c)����C£��(A
��,K	
��4��1���� �c��(A
��,K	
�FA
�?C
5$���������e��9�'��s	��T4�-	
�������<����*
��-.��7x��!� ���JD�	
�a[���C,	
��
4�# ��+�v����C)*"���7E��-.�

�̀�1C�����
���<�KC�����
���³[�?.����*"���
��
�	G�¤@�4���<�KC������
��	=*������
���T_���7�7 �̀�1C����
�a[�|��S�?G�	� ������2�������
%��T4�%[�7�G��������E�¡�9Ld�(�	����U� �̀�
�5
��'�"����H 
���T4�5
�&�����;CG�

�̀�"��5
�p �)
���
����C
�H	R��T4�§�:�7 �̀�"��5
�(�C<�?=)dG��19
�T��C
�5$�*G���9� �a[�5$�*G���� �����;C
x��!� ��� V�@
� T4� �̂K�9
�� �<�KC�� ���
� �.�� ?��@K��� ��q��� ����
� i�6�x��!� ��� �� 
̂��"��� ��d� v���p �G
�G�	� ���� ��q��� �$�� d� �O� �
\�� 7z �-��� 7�<�D� T���  ��26� b6� �4� �G�	�� E�,d� %�� 7� �O��4� i���@��� �$�� d

��
�8@)d�d�\KP�c�4�8C���-���7x�+��)���V7�	d�<�D�E��¡�������	�,
���
�5G�&)��5.�+4�b6��T[�&)��i�<4�
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